Produce Stand

Here is a graph showing the number of Valencia Oranges on display at a produce stand,
over the course of a morning.
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1. a. Based on the graph, what do you think happened at 8:00 a.m.?

b. What do you think happened at 10:15 a.m.?
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2. a. During which hour of the morning were the oranges selling the most quickly?

b. Make some computations to show that your answer to part a is right.

c¢. How could you show that your answer to part a is right, by just using the graph
without making any computations?
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